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In case a reverse biased photodiode is kept in dark condition, the current flowing through the device corresponds
to:

. Maximum value of current which can flow through the device

. Value of reverse saturation current

. Normal value of current
Zero
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(1) 1
) 2
3) 3
(4) 4
1[Option ID=11601]
2[Option ID=11602]

3[Option ID=11603]
4[Option ID=11604]
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The diode used in fig. below has the threshold voltage of 0.5 V and a forward resistance of 4. Calculate the
current flow Iy through and the voltage drop Vp across the diode.

1.Ip=4.521 mA, Vp =045V
2.Ip=4.621mA V=048V
3.Ip=4482 mAVp =052V
4.Ip=4321 mA, V=062V

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=11605]

2[Option ID=11606]

3[Option ID=11607]
4[Option ID=11608]
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What current should flow through D, diode? Consider the values given in circuit below.

1.1.12mA
2.2.11 mA
3.3.11 mA
4.4.11 mA
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11609]
2[Option ID=11610]

3[Option ID=11611]
4[Option ID=11612]
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The ratio of peak to peak input ripple voltage to peak to peak ripple output voltage is known as:

1. Ripple Voltage

2. Ripple Current

3. Ripple gain or Ripple Factor
4. Ripple rejection

1

(2 2

3) 3

(4) 4

1[Option ID=11613]

2[Option ID=11614]

3[Option ID=11615]
4[Option ID=11616]
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Approximate oxide capacitance value (Cq) for saturation operating mode of MOS transistor is:

1.0
2. Coy WL
G Wi

. = CoxWL +Cox W.Lp

t

S IS

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=11617]
2[Option ID=11618]

3[Option ID=11619]
4[Option ID=11620]
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In a MOS transistor, if n™ region is diffused in p-type substrate, the type of pn junction generated towards
channel and drain is:

1.n'/p*
2.n'/p
3.np”
4. n/p

(1) 1

(2 2

(3) 3

(4) 4

1[Option ID=11621]

2[Option ID=11622]

3[Option ID=11623]
4[Option ID=11624]
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For an n-channel MOS transistor with p, = 600 cm?/Vs, C,, = 7 * 1078 F/cm?, W=40 pm, L = 4um and
V1o=1.0 V, the value of K parameter is:

. 0.28 mA/V?
.42 x 107 A/V?
.62 mA/V?

.36 mA/V?

(1) 1

(2) 2

(3) 3

4) 4

Fa w =

1[Option ID=11625]
2[Option ID=11626]
3[Option ID=11627]
4[Option ID=11628]
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Consider a resistive load inverter with Vpp = 5V, K'n=20 pA/V?, V1o = 0.7 V, R; = 500 kQ and % = 3. Value of

critical voltage Vg is:

1.0V
2.0147V
3.0925V
4.5V

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11629]

2[Option ID=11630]

3[Option ID=11631]
4[Option ID=11632]
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For series RLC circuit given below in figure, choose the correct answer based on Kirchoff 's voltage law from
following:

e

T

di 1
Ri+L———|idt =Vt
; dt (.'j“ @

—_

di 1 "
) . ; ;
2. Ri+L—+—|idt=V(t
= {_,j (1)
|
. Ri+L|idi+—\|idi =V()
Jidi+=]
1 1
4. Ri+—\|idi+—ide=V(t
Clidi+ | (1)
1) 1
2) 2
(3) 3
(4) 4

1[Option ID=11633]
2[Option ID=11634]
3[Option ID=11635]
4[Option ID=11636]
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Unit parabolic function is represented by its Laplace transform as:
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1)1
) 2
3) 3
4) 4
1[Option ID=11637]
2[Option ID=11638]

3[Option ID=11639]
4[Option ID=11640]
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F ] —
Port1V, ~* Ry 7 i
o Network %_ o Vs

Two port network is given in Figure above, select equations for transmission parameters from the given below
equations

W=2,1,+2,1,

7
V: ZZIIII +Z::-11
, L= +1,V,
"2: Ylel +Y:2V:-
V,=A4V,-BI,
3. E )
I,=CV,-DI,
4 Vz:A'H—B'[,
: I, :C'F’[—D’f]
@ 1
) 2
3) 3
(4) 4

1[Option ID=11641]
2[Option ID=11642]
3[Option ID=11643]
4[Option ID=11644]
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For fourier series of wave shown in Figure below,

Select correct expression for f(t)

L. f(r) = =+=|sin(@ )+ —sin(sin 30,00+ iives
2. fiHh=4 +;[Sill(ri}ﬁf)+:Sin(_’i{'r)orj+ _______ ]
A
3. f() ==+ =[sin(@,0) + =sin 3o )+ ...... ]
b

4. f(n=A4/2+ ﬁ[sin(w{,!} + I:sin{Zmor')-T _______ ]
n a

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11645]
2[Option ID=11646]

3[Option ID=11647]
4[Option ID=11648]
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The quienscent state of transistor is when

1. It is unbiased
2. Biased but no signal is applied
3. No current flows
4. Punch through occurs at collector junction
1 1
2) 2
(3 3
4) 4
1[Option ID=11649]
2[Option ID=11650]

3[Option ID=11651]
4[Option ID=11652]
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The current amplification factor in radian square of Colpitts oscillator is :

L
2. C]_‘FCE

[F¥]
@]
)
@
[ )

1[Option ID=11653]
2[Option ID=11654]
3[Option ID=11655]
4[Option ID=11656]
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The two input terminals of an op-amp are connected to voltage signals of strength 745 uV and 740 uVv

respectively. The gain of the Op-Amp in differential mode is 5 x 10° and CMRR is 100 dB. What should be the
output voltage?

1. 2.75V
2.2.65V
3. 245V
4.2.57V

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=11657]
2[Option ID=11658]
3[Option ID=11659]
4[Option ID=11660]
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The given operational amplifier circuit corresponds to which electronic circuit application ?

V: R

il

1. Half wave rectification
2. Full wave rectification
3. Voltage Doubler circuit
4. Peak detector circuit
1) 1

) 2

(3) 3

) 4

1[Option ID=11661]

2[Option ID=11662]

3[Option ID=11663]
4[Option ID=11664]
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Choose the correct answer from the decimal to octal conversion given below.

1. (0.125)19=1(0.100)g
.(0.125)15=1(0.200)g
.(0.125)10=(0.300)g
. (0.125)19 =(0.400)g

(1) 1
(2) 2
(3) 3
4) 4

£ o b

1[Option ID=11665]
2[Option ID=11666]
3[Option ID=11667]
4[Option ID=11668]
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Compute output of following logic gates as combinational circuit.

Ao——

Bo——

W
\l 3
DJ?:.“I*
wel

=
SN =N
+ +
byl &

1) 1
() 2
(3) 3
(4) 4
1[Option ID=11669]
2[Option ID=11670]

3[Option ID=11671]
4[Option ID=11672]
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Sum of products equation is given below as v - Asc + aBic + aBC - apc. Identify the correct representation of the
above equation from:

L. ¥=F(A, B, €)=Y m(3,4,5,6)
Y=FA,B,C)=>m@3,5.67
. Y=FA,B,O)=) m(2,3,4,5)
4. Y-F(A,B,C)—)2.m(4,567

(2]

(%]

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11673]
2[Option ID=11674]

3[Option ID=11675]
4[Option ID=11676]
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The truth table of D flip-flop is given below:

0 X|Q, (Last State)
T o 0
i 1

Choose exact characteristic equation based on above Truth Table

L8, =0,
2.Q:0=D;
3. Qun=Dy
4. Qu+1 = Dpng

1y 1

2) 2

(3) 3

4) 4

1[Option ID=11677]
2[Option ID=11678]
3[Option ID=11679]
4[Option ID=11680]
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Loopl:MOVA. PI

MOV P2, A

JNB P3-3, Loopl
The program does the following

1. Read data from port 1 and write it to port 2 until bit 3 of port 3 is set
2. Read data from port 1 and write it to port 2 until bit 3 of port 3 is reset
3. Read data from port 2 and write it to port 1 until bit 3 of port 3 is set
4. Read data from port 2 and write it to port 1 until bit 3 of port 3 is reset.

1) 1

(2 2

(3) 3

(4) 4

1[Option ID=11681]

2[Option ID=11682]

3[Option ID=11683]
4[Option ID=11684]
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In an 8086, AL = 19 BCD & BL = 36 BCD prior to execution of following example
ADD AL, BL
DAA

What will be content of AL after execution of the example ?

W
LY. I~
0 -

(1) 1
2) 2
(3) 3
4) 4
1[Option ID=11685]
2[Option ID=11686]

3[Option ID=11687]
4[Option ID=11688]
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The BIU of 8086 contains 16 bit segment registers. What is the width of address sent out by BIU of 8086
miocroprocessor?

1. 15 bit
2. 16 bit
3. 20 bit
. 64 bit
1) 1
) 2
(3) 3
(4) 4

d=

1[Option ID=11689]
2[Option ID=11690]
3[Option ID=11691]
4[Option ID=11692]

Sl. No.24
QBID:188024

If SS = 3000 H and SP = 2000 H in 8086 microprocessor, in which memory addresses the contents of BL and BH
are stored respectively, when PUSH BX instruction is executed.

1. 31FFF H, 31FFEH
2.21FFE H, 21FFF H
3. 21FFFH, 21FFEH
.31FFEH, 31FFFH
(1) 1

(2) 2

3) 3

4) 4

i =

1[Option ID=11693]
2[Option ID=11694]
3[Option ID=11695]
4[Option ID=11696]
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An Elliptical polarized wave has an electric field of E = sin (ot —pz)ax+2sin (ot -z +75°).ay Vim
The power per unit area conveyed by the wave in free space.

. 6.63 W/m?
. 6.63 mW/m?*
. 16.63 mW/m?

.0.663 W/m?
(1) 1
(2) 2
(3) 3
(4) 4

NS TR N J—

1[Option ID=11697]
2[Option ID=11698]
3[Option ID=11699]
4[Option ID=11700]
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Which one of the fundamental equation was modified by Maxwell to form the basis of electro magnetic theory?

1. Gauss Law of electrostatics
2. Ampere Law
3. Gauss Law of Magnetostics
4. Faraday's law

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=11701]

2[Option ID=11702]

3[Option ID=11703]
4[Option ID=11704]
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A scalar function V is given by V = 2xyz?. The gradient of V is given by:

1. 2yz* G +2xz°G,+2xy a.
5 2 A 2n oA
Z.yza,+xz'a,+2xyza,
3.2yz° a_+2x2°a, +4xyzd.
2 o~ ~ ~

4.2z° a_+xa, +xyza,

(1) 1

(2) 2

3) 3

4 4

1[Option ID=11705]
2[Option ID=11706]
3[Option ID=11707]
4[Option ID=11708]
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0 dBm power is transmitted, it means that actual power transmitted is :

1. 0 Watt

. 1 Watt
. 10 Watt
.1 mW
1)1

(2) 2

3) 3

(4) 4

d b

=

1[Option ID=11709]




2[Option ID=11710]
3[Option ID=11711]
4[Option ID=11712]
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th
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1.
2.
3

b — J
th b2
LN

3]

b 3
f—
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(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11713]
2[Option ID=11714]

3[Option ID=11715]
4[Option ID=11716]

An optical fibre has numerical aperture (NA) of 0.3 and refractive index 1, of cladding material is 1.6. What is

the refractive index of core material?

Sl. No.30
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—

. 0.03m sec
.0.0166m sec
. 0.05m sec
. 0.04m sec
1) 1
(2) 2
(3) 3
(4) 4

LY ]

=

1[Option ID=11717]
2[Option ID=11718]
3[Option ID=11719]
4[Option ID=11720]

In coherent binary FSK system the orthogonal sinusoidal signals of frequency 20 kHz and 50 kHz are used to
represent '0' and '1' respectively. The maximum possible bit interval is:

Sl. No.31
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1.P
2. Envelope detectors
3.F

1) 1
) 2
(3) 3
4) 4
1[Option ID=11721]
2[Option ID=11722]

3[Option ID=11723]
4[Option ID=11724]

Demodulation of SSB signals can be achieved easily by:
hase Shifters

requency discriminator
4. Coherent Detector

Sl. No.32
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3. unity

1) 1
(2) 2
3) 3
(4) 4

In case of wideband FM., the modulation index value is :

1. Around zero
2. much less than unity

4. exceeds unity




1[Option ID=11725]
2[Option ID=11726]
3[Option ID=11727]
4[Option ID=11728]
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Most of the practical control system require damping factor in the range of :

1.0< £ <0.1
2.0< & <0.09
3.0< £<0.7
4.028< E<07

) 1

() 2

3) 3

(4) 4

1[Option ID=11729]
2[Option ID=11730]
3[Option ID=11731]
4[Option ID=11732]
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Consider a sixth order system with characteristic equation s® + 25> + 8s* + 1253 + 20s> + 165 + 16 =0, The
control system is:

. Stable

. Unstable

. Limitedly stable

. Oscillatory unstable
1) 1

) 2

(3) 3

(4) 4

S R N

1[Option ID=11733]
2[Option ID=11734]
3[Option ID=11735]
4[Option ID=11736]
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In two transistor model of an SCR the expression for anode current is given by:

s

— Iy
I
l Cathode
sy fg
4oy oy,
~ oy Iy
T -yt
LL5] Irg
T ooy o
oy 1,
; 24y
4. 1= (o +ez)
(1) 1
() 2
3) 3
(4) 4

1[Option ID=11737]




2[Option ID=11738]
3[Option ID=11739]
4[Option ID=11740]
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Find the value of inductance in a series inverter circuit having the frequency of 5 kHz and a capacitance 1 pF. If
the inverter is operating under resonance condition. The value of inductance is given by:

1. 40 mH
.20 mH
. 80 mH
. 10 mH
1)1
(2) 2
3) 3
(4) 4

FERNS

=N

1[Option ID=11741]
2[Option ID=11742]
3[Option ID=11743]
4[Option ID=11744]
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An ammeter of 1 mA possesses a resistance of 100 ohms. This ammeter is to be converted into 1A ammeter. The
value of shunt resistance required will be :

1.0.001©
2.0.1001Q
3. 10082

. 1200Q
(1) 1

(2) 2

(3) 3

(4) 4

=9

1[Option ID=11745]
2[Option ID=11746]
3[Option ID=11747]
4[Option ID=11748]
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Which of the following bridge is used for the measurement of capacitance, dielectric loss of capacitor and loss
angle.

1. Wheatstone Bridge
2. Owen Bridge
3. Schering Bridge
4. Wein Bridge
1) 1
() 2
(3) 3
(4) 4
1[Option ID=11749]
2[Option ID=11750]

3[Option ID=11751]
4[Option ID=11752]
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For a Lissajous pattern as shown in Figure below, determine the frequency of vertical signal if the frequency of
horizontal signal is 12 kHz.

Full Y-Peaks Half Y-Peak

|
oY

Half X-Peaks

/

.25 kHz
.30 kHz
.15 kHz
.20 kHz
11
(2) 2
(3) 3
) 4

o bd —

=

1[Option ID=11753]
2[Option ID=11754]
3[Option ID=11755]
4[Option ID=11756]
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An LVDT is used for measuring the deflection of bellows. The sensitivity of LVDT is 40V per mm. The bellows
is deflected by 0.125 mm by a pressure of 0.8 x 10° N per m?. Determine the sensitivity of the LVDT in V per
N/m?, when the voltage output of LVDT is 3.1 V.

1.1.25 x 1073 V per N/m?
2.6.25 x 10° V per N/m?
3.7.00 % 10 V per N/m?
.6.5 x 105 V per N/m?
(1) 1

(2) 2

(3) 3

(4) 4

=

1[Option ID=11757]
2[Option ID=11758]
3[Option ID=11759]
4[Option ID=11760]
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Read the statements:

A. The O/P frequency of a half wave rectifier is equal to the input frequency
B. The O/P frequency of a full wave rectifier is double to the input frequency
C. The regulation of an excellent rectifier should be zero.

D. ripple factor in the full wave rectifier is 1.2.

Choose the correct statements from the options given below:

1. A, D only
2. B, D only
3.B. Conly
4. A, Conly

1[Option ID=11761]
2[Option ID=11762]




3[Option ID=11763]
4[Option ID=11764]
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Read the statements regarding transistor.

A. The dopping level of emitter region is more than base region but less than collector region.

B. The CB configuration is a good current amplifier circuit configuration

C. The phase difference between I/P and O/P waveforms of a CB configuration amplifying circuit is 0°.

D. CC configuration transistor amplifier has higher value of I/P resistance and lower values of O/P resistance.

Choose the correct answer from the options given below:

.C & D only
.A & C only
.A & D only
.B & C only
1) 1
(2 2
(3) 3
(@) 4

e e b o—

1[Option ID=11765]
2[Option ID=11766]
3[Option ID=11767]
4[Option ID=11768]
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In MOS

A. The substrate fermi potential @ is negative in NMOS
B. The substrate fermi potential @ is positive in NMOS
C. The substrate bias voltage Vg is positive in NMOS, negative in PMOS
D. The substrate bias voltage Vg is negative in NMOS, positive in PMOS.

Choose the correct answer from the options given below:

1. A& Bonly
2.B & D only
3.A& Conly
4. A& D only

1) 1

) 2

(3) 3

4 4

1[Option ID=11769]

2[Option ID=11770]

3[Option ID=11771]
4[Option ID=11772]
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In VLSI Design flow,

A. Algorithm describes the behaviour of target chip.

B. Architecture of processor is not mapped onto the chip surface by floor planning.
C. Behavioral domain defines FSMs.

D. Individual modules are implemented with leaf cells.

Choose the correct answer from the options given below:

.A.C &Donly
.A.B&Donly
.B,C & D only
.B & D only

e e b —




1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=11773]
2[Option ID=11774]

3[Option ID=11775]
4[Option ID=11776]
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The RLC circuit given in figure below can be solved

1V - 1/2 f

T 5

A. Current i(t) can be solved using KVL

B. Current i(t) can be solved using KCL

C. Current i(t) can be solved using fourier transform
D. Current i(t) can be solved using laplace transform
E. Current i(t) can be solved using Fourier series

Choose the correct answer from the options given below:

1.A C&Donly
2. A& Conly
3. A& D only
4. A & B only
1) 1
) 2
(3) 3
(4) 4
1[Option ID=11777]
2[Option ID=11778]

3[Option ID=11779]
4[Option ID=11780]
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Power absorbed by an element for t =10 sec, if the current magnitude is 2e0-1t

and the voltage across the element

is ‘v"—o‘% , the absorbed power is :
di

—0.325 Watts
— 2.4 892(10) watts
0.325 Watts

2.4 &9-2(10) watts
0.625 Watts

mUNw >

choose the correct answer from the options given below :

1. A &Bonly
2. A& Conly
3.B & Conly
4.C,D & E only
1) 1
(2 2
(3) 3
(4) 4

1[Option ID=11781]




2[Option ID=11782]
3[Option ID=11783]
4[Option ID=11784]
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In an operational amplifiers -

A.IC 741 is an operational amplifier IC with 10 pins

. ; . : e . R,
B. Gain for non inverting operational amplifier configuration is {|+ ?l}
1

C. The value of CMRR for an ideal amplifier is 0.
D. Slew rate is an important parameter of op-amp which limits the bandwidth for large signals.

Choose the correct answer from the options given below:

1. A& Bonly
2.B & D only
3.B,C& D only
4. A& D only
1

(2) 2

(3 3

(4) 4

1[Option ID=11785]
2[Option ID=11786]

3[Option ID=11787]
4[Option ID=11788]
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Statements regarding rectifier are :

g . : i T
A, RMS value of current in a half wave rectifier is %

B. PIV of diode in a full wave bridge rectifier is Vm volts.
C. TUF and rectification efficiency for a rectifier are same parametrs.
D. Rectifier converts A.C. to rippled DC not pure D.C.

Choose the correct answer from the options given below:

1. A & D only
2.C & D only
3.B & D only
4.D only

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=11789]

2[Option ID=11790]

3[Option ID=11791]
4[Option ID=11792]
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Statements in connection to Op-Amp applications are ;

A. If we use a square wave generator followed by integrator circuit we get a triangular wave at the output
B. The logarithmic amplifier called a log-amplifier or a logger, is basically a current to voltage converter.

R - oy . :
. is a first order high pass filter with voltage follower

i 4
O—AM—T— v,

D. If we use a square wave generator followed by a clipping circuit then we get a saw-tooth wave generator.
Choose the correct answer from the options given below:

1. A & Bonly

2. A& Conly
3.B & Conly
4.B,C & D only
1) 1

2) 2

(3) 3

(4) 4

1[Option ID=11793]
2[Option ID=11794]

3[Option ID=11795]
4[Option ID=11796]

Sl. No.50
QBID:188050

The logic families have fan out more than TTL

A.RTL
B.ECL
€. DIL
D. CMOS

Choose the correct answer from the options given below.

1. A and B only
2. B and D only
3. B and C only
4. C and D only

)1

(2 2

(3) 3

(4) 4

1[Option ID=11797]

2[Option ID=11798]

3[Option ID=11799]
4[Option ID=11800]
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Read the following statements regarding decoder:

A. Tt is similar to demultiplexer.
B. It does not have a data input
C. It is having data input lines

D. It converts n bit binary input to 2" output lines.
E. It converts digital signals to analog signals.

Choose the correct answer from the options given below:

1.B,D & E only
2. A, C&E only
3.A.B&Donly
4. A, B&Eonly

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=11801]
2[Option ID=11802]

3[Option ID=11803]
4[Option ID=11804]

Sl. No.52
QBID:188052

In 8051 micro controller

A.INTO and INT1 pins are normally low

B. Timer! Interrupt Flag is auto cleared after occurrence
C. Serial interrupt is auto cleared after occurrence

D. Timer 0 Vector location is 000B H

Choose the correct answer from the options given below:

. A and C only
. A and D only
B and D only
B and C only

e b o—

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11805]
2[Option ID=11806]

3[Option ID=11807]
4[Option ID=11808]

Sl. No.53
QBID:188053

In 8051

A.INTO and INT1 can be made edge triggered by programming TCON
B. On reset serial communication interrupts has highest priority

C. Upon reset all interrupts are enabled

D. Only one interrupt is set aside for serial communication.

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only

) 1
() 2




3) 3
4) 4

1[Option ID=11809]
2[Option ID=11810]
3[Option ID=11811]
4[Option ID=11812]

Sl. No.54
QBID:188054

In 8086

A. The stack memory is a FIFO (First In First Out)

B. The JMP instruction cannot be prefixed with segment override prefix
C. SAHF and POPF instructions affect the flag register

D. DAS instruction cannot be used for 8 bit operations.

Choose the correct answer from the options given below :

1. A and D only
2.Band C only
3. Aand B only
4. C and D only
1) 1

) 2

(3 3

4 4

1[Option ID=11813]
2[Option ID=11814]

3[Option ID=11815]
4[Option ID=11816]

Sl. No.55
QBID:188055

Varacter diodes have the following properties :

A. Junction capacitance varies with bias voltage

B. Junction capacitance varies with time

C. Non linearity of varacter diodes makes them suitable for frequency multipliers
D. Linearity of varactor diode makes them suitable for frequency multipliers.

Choose the correct answer from the options given below:

I. Aand B only
2. B and C only
3. Aand C only
4. B and D only

1) 1

) 2

(3) 3

(4) 4

1[Option ID=11817]

2[Option ID=11818]

3[Option ID=11819]
4[Option ID=11820]

Sl. No.56
QBID:188056




The properties of Dirac Delta are

A8 (t—t)=wift=t,
B.& (t-"1)-0E=1,
C.3(t—t)=0ift#t,
D.d (t—ty)=cif t #1,
E.o(t—t,)=1forallt=t,

Choose the correct answer from the options given below:

1. A and C only
2. Aand D only
3.B and D only
4.D and E only

1

(2 2

(3) 3

4) 4

1[Option ID=11821]

2[Option ID=11822]

3[Option ID=11823]
4[Option ID=11824]

Sl. No.57
QBID:188057

The RF section of Radio Receiver has :

A. Better coupling of receiver fo Antenna

B. Less Image-frequency rejection

C. Greater Gain

D. Allowing Re-radiation of local oscillator through the antenna of receiver.

Choose the correct answer from the options given below:

1.B & C only
2. A& D only
3.A&Conly
4.B & D only

1) 1

(2 2

3 3

(@) 4

1[Option ID=11825]

2[Option ID=11826]

3[Option ID=11827]
4[Option ID=11828]

Sl. No.58
QBID:188058

In amplitude modulation:

A. Amplitude of carrier is varied by modulating signal

B. Modulation index is between 0 and 1

C. Bandwidth is infinite

D. Bandwidth is twice of minimum modulating frequency.

Choose the correct answer from the options given below:

1. A and C only
2. Aand B only
3.Band D only
4. C and D only

1) 1




) 2
3) 3
(4) 4
1[Option ID=11829]
2[Option ID=11830]

3[Option ID=11831]
4[Option ID=11832]

Sl. No.59
QBID:188059

Waveguides below cutoff have attenuation for:

A. Reflections from obstacles, discontinuities and misaligned waveguide sections
B. Losses due to currents flowing in waveguide walls

C. Losses in dielectric filling the waveguide

D. Gain in dielectric filling the waveguide.

Choose the correct answer from the options given below:

1. A& Bonly

2. A,B & Conly
3.C & D only
4.D only

1

(2) 2

(3) 3

(4) 4

1[Option ID=11833]
2[Option ID=11834]

3[Option ID=11835]
4[Option ID=11836]

Sl. No.60
QBID:188060

An SCR has half cycle surge current rating of 3000 A for 50 Hz supply. It has

A. one cycle surge current =2121.32 A
B. One cycle surge current = 1121.32 A

C. I*t rating = 45000 Amp-
D. I*t rating = 1257358 Amp-

Choose the correct answer from the options given below:

1. Aand D only
2. Aand C only
3.B and D only
4. B and C only

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=11837]

2[Option ID=11838]

3[Option ID=11839]
4[Option ID=11840]

Sl. No.61
QBID:188061




Inverters are having following properties:

A. VST uses force commutation

B. VSI has negligible impedance

C. VSI has large source impedances
D. They work like choppers

Choose the correct answer from the options given below:

B and D only

. A, Cand D only
. A and B only
.Aand D only
)1

(2 2

(3) 3

(4) 4

e e b o=

1[Option ID=11841]
2[Option ID=11842]
3[Option ID=11843]
4[Option ID=11844]

Sl. No.62
QBID:188062

The value of Kp in Proportional ,PI. PID, controllers are given

A. For proportional Kp=T/L
B. For PI, Kp=0.9 T/L

€. For PLL Kp= 1.7 T/L
D.ForPID,Kp=12T/L
E.ForPIDKp=09T/L

Choose the correct answer from the options given below:

1. A, B and D only
2. A,Band E only
3. Aand E only
4. C and D only
1
) 2
(3) 3
(4) 4
1[Option ID=11845]
2[Option ID=11846]

3[Option ID=11847]
4[Option ID=11848]

Sl. No.63
QBID:188063

Incorrect statements regar diﬂg measurement are giVEIl .

A. Hot wire anemometer is used to measure displacement
B. Hall effect is used to measure current

C. LVDT is used to measure acceleration and gas flow

D. Piezoelectric Transducer is used to measure acceleration

Choose the correct answer from the options given below:

B and D only

. A, Band D only
. C and D only

. A, B and C only
1) 1

(2) 2

S R O




3) 3
4) 4

1[Option ID=11849]
2[Option ID=11850]
3[Option ID=11851]
4[Option ID=11852]

Sl. No.64
QBID:188064

Consider the following statements associated with electrical and electronic transducers

A. Little power is consumed by transducer
B. Mass intertia effects are not minimized

C. The response time is small
D. Transmission and processing the signal for the purpose of measurement are easier.

Choose the correct answer from the options given below:

1. A, B and D only
2. A, Cand D only
3. A, Band C only
4.B, C and D only
)1

(2 2

(3) 3

(4) 4

1[Option ID=11853]
2[Option ID=11854]

3[Option ID=11855]
4[Option ID=11856]

Sl. No.65
QBID:188065

Consider the following statements regarding the advantages of Anderson Bridge

A. Tt is the modification of the Maxwell's inductance Capacitance Bridge
B. For measuring the low Q of coils, it is not superior to Maxwell's bridge
C. It is not simple as compared to Maxwell's Bridge

D. It can be used to determine mutual inductance

Choose the correct answer from the options given below:

1. A, B and D only
2.B. Cand D only
3. A, Cand D only
4. A, Band C only

1) 1

(2 2

(3) 3

(4) 4

1[Option ID=11857]

2[Option ID=11858]

3[Option ID=11859]
4[Option ID=11860]

Sl. No.66
QBID:188066




Match List I with List IT

LISTI LISTII
A |Porcelain 1. |Used for high frequency applications
B. [Steatite II. [Releases water when heated
C. PMica I11. |[Used for capacitors to be operated in high frequency cases|
D. [Rutile IV. |Used for msulators.

Choose the correct answer from the options given below:

1. A-1V, B-1, C-IIL, D-II
2. A-1V, B-11, C-II1, D-I
3. A-II, B-1, C-II1, D-IV
4. A-TIL, B-I1, C-IV, D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11861]

2[Option ID=11862]

3[Option ID=11863]
4[Option ID=11864]

Sl. No.67
QBID:188067

Match List I with List IT

LISTI LISTII
When negative Vi 1s applied to gate )
A S MOS I. |Depletion
B ‘{\Igzn zero-bias 13 applied to gate of T lsuidie Tversicn

Wh 1tV 1as V
. en z.lsma.ll posxt{\ e gate bias Vg m |Accumulation
is applied to gate of MOS

When a higher positive gate Vi 1s

7 IV. [Neutral MOS
applied to gate of MOS

Choose the correct answer from the options given below:

1. A-II, B-III, C-1. D-IV
2. A-IV, B-III, C-II, D-1
3. A-L, B-1V, C-III, D-1II
4. A-II, B-1, C-IV, D-111

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11865]

2[Option ID=11866]

3[Option ID=11867]
4[Option ID=11868]

Sl. No.68
QBID:188068

Match List I with List IT

LISTI LISTII
A [Power I |dB1
B. |Gain II. [Watts
C. [Resistance II1. [Henrv
D. [[nductance IV |Ohm

Choose the correct answer from the options given below:

1. A-L, B-IIL, C-1I, D-IV
2. ATV, B-II1, C-I, D-II
3. AL B-L. C-IV, D-II
4. A-11, B-1, C-1V, D-III




(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11869]
2[Option ID=11870]

3[Option ID=11871]
4[Option ID=11872]

Sl. No.69
QBID:188069

Match List I with List 1T

LISTI LISTII
. . n Vi
% Single polarity positive
" voltage clipper circuit
RC
: c :
Vi ()_| I V,
. Ncga_ti\-'e clamping I v R
circut
o
2 . o Vi
C. Differentiator circuit ~ III. '
ATATAAY
et || = .
7 : p ———0V
D. Logarithmic Amplifier IV. £ o E
Rf

Choose the correct answer from the options given below:

. A-II. B-1, C-IV. D-III
AL B-ILL C-IV, D-ITIT
. A-I1. B-1, C-III D-IV
. A-TIT, B-TV, C-I1. D-1
(1) 1
) 2
(3) 3
4) 4

Fa L0 bd

1[Option ID=11873]
2[Option ID=11874]
3[Option ID=11875]
4[Option ID=11876]

Sl. No.70
QBID:188070




Match List I with List IT

LIST I LISTIT

A
A [NOTGATE | 1L tD_ED_Q y
B
A @
B. [ANDGATE |IL o—[\—)—::Dp_%
B

C. |[OR GATE 118

A
D. [EX-OR Gate [IV.|', z:’_ED_EDO_ED_Q?'

Choose the correct answer from the options given below:

—

1. A-I, B-III, C-IV, D-II
2. A-II, B-1, C-11II, D-IV
3. A1V, B-1, C-I1, D-III
4. A-II, B-III, C-IV, D-1

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=11877]

2[Option ID=11878]

3[Option ID=11879]
4[Option ID=11880]

Sl. No.71
QBID:188071

Match List I with List IT in 8086 Micro processor

LISTI LISTII
A |Direct memory addressing data memory] [ MOV [SI]. 2500 H
B. [lmmediate Addressing II. [PUSHF
C. [Flag Manipulation III. RET
D. |Control transfer IV. MOV BX, [2000 H]

Choose the correct answer from the options given below:

1. A-IV. B-1, C-II. D-III
2. A-1. B-IV., C-III, D-II
3. A-TIV, B-III. C-I1, D-1
4. A-1, B-III, C-II, D-1IV

1) 1

) 2

(3) 3

(4) 4

1[Option ID=11881]

2[Option ID=11882]

3[Option ID=11883]
4[Option ID=11884]

Sl. No.72
QBID:188072




Match List I with List IT

LIST I (Type of Aperture Antenna) |LIST II (Beam width half power points)
58
A |Uniformly illuminated linear Array L ‘D—
3
56
B. |[Uniformly illuminated circular aperture] I 2
Ej
67
C. |Optimum E-plane rectangular horn o | =
o E 2
51
D. |[Optimum H-plane rectangular horn V. L_
h

Choose the correct answer from the options given below:

1. A-I, B-III, C-II. D-IV
2. A-II B-1, C-III, D-IV
3. A-II1, B-1. C-IV, D-II
4. A-IV, B-1, C-1I, D-1II
1) 1

() 2

(3) 3

(4) 4

1[Option ID=11885]

2[Option ID=11886]

3[Option ID=11887]
4[Option ID=11888]

Sl. No.73
QBID:188073

Match List I with List IT

LIST1I LIST II
(m* )
A [Power of AM Wave| T |F. T|
B. [Power of Vg ol L. F| " 5
q 5 | 4 °)
m VC: it ( I’f
C. [Power of SSB m. |—| — |+ —| —
4\2R) 4\2R)
V: 72 VE
D. |Power of DSBSC IV, |—carr , “ISB | USB
R R R

Choose the correct answer from the options given below:

1. A-TIV, B-III C-II, D-1
2. A-IV, B-II1, C-I, D-II
3. A-IV, B-I1, C-1, D-III
4. A-1V, B-1, C-III, D-II

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=11889]

2[Option ID=11890]

3[Option ID=11891]
4[Option ID=11892]

Sl. No.74
QBID:188074




Match List I with List IT

LIST I (Devices) LIST II (Symbols)
A [DIAC I:
A
B. [TRIAC IT.
G K
A
Wy
C. JASCR IIL.
G K
Ty
D. [LASCR V.
T,

Choose the correct answer from the options given below:

1. A-II, B-III, C-1V, D-1
2. A-1IV, B-1, C-11, D-III
3. A-IV, B-I1, C-1I1, D-I
4. A-1, B-IV, C-II, D-TII

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11893]

2[Option ID=11894]

3[Option ID=11895]
4[Option ID=11896]

Sl. No.75
QBID:188075

Match List I with List IT

LISTI LISTII

The ability of the device to give
identical O/P when repeated
Imeasurements are made with the
same ['P signal

The ratio of difference between

B. [Precision II. jmeasured value and the true value to
the true value of the measurand
The smallest increment in measure
C. |Caliberation III. [that can be detected with certainity
by the instrument

The process of making adjustents
or the scale so that the instrument
reading conform to an accepted
standard.

A [Relative error E

D. [Resolution v

Choose the correct answer from the options given below:

1. A-III, B-1V, C-I, D-II

2. A-IIL B-1, C-IV, D-II

3. A-I B-IV, C-1II, D-II

4. A-IL, B-1. C-1V. D-III
(1) 1




) 2
(3) 3
(4) 4
1[Option ID=11897]
2[Option ID=11898]

3[Option ID=11899]
4[Option ID=11900]

Sl. No.76
QBID:188076

Atomic numbers for the following semiconducting and doping materials like Ga. In. As, Sb are respectively :

A 33
B. 49
C. 31
D. 51

Choose the correct answer from the options given below :

1. B—=C—D—A
2. A—D—B—C
3.C—=A—B—D
4. C—B—A—D
11

(2) 2

3) 3

(4) 4

1[Option ID=11901]
2[Option ID=11902]

3[Option ID=11903]
4[Option ID=11904]

Sl. No.77
QBID:188077

The correct design flow of VLSl is :

A. Functional Design & verification
B. Circuit Design & verification

C. Logic Design & verification

D. Physical Design

E. Layout verification

Choose the correct answer from the options given below :

1.A,B,C,D,E
2.A,C.B.ILE
3JA,D.B.C.E
4. AE.D,C,B

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=11905]
2[Option ID=11906]
3[Option ID=11907]
4[Option ID=11908]

Sl. No.78
QBID:188078




Write them in descending order of measurement units

A. atto
B. tera
C.Kilo
D. micro
E. pico

Choose the correct answer from the options given below :

1.B,D,C,E,A
2.A,B,C.,D.E
3.B,A,C,D.E
4. A E.D.C.B

1)1

(2) 2

3) 3

(4) 4

1[Option ID=11909]
2[Option ID=11910]
3[Option ID=11911]
4[Option ID=11912]

Sl. No.79
QBID:188079

The correct flow in the basic block diagram of op-Amp is

A. Complementary symmetry push pull amplifier block.

B. Dual input unbalanced output differential amplifier block
C. Emitter follower with constant current source block

D. Dual-Input balanced output differential amplifier block

Choose the correct answer from the options given below :

.B—D—C—A
.D—=B—A—C
.D—=B—C—A
.B—D—A—C
(1) 1
) 2
(3) 3
(4) 4

e b o—

1[Option ID=11913]
2[Option ID=11914]
3[Option ID=11915]
4[Option ID=11916]

Sl. No.80
QBID:188080

the given logic to minimum SOP for PLA.

Choose the correct answer from the options given below :

1.C; D, B, A
2A.CD.B
3.C,A,D,B
4.A.B.D.C

11

Steps followed to implement the minimum SOP from function are as follows because it is benificial to minimise

A. Mark the input connections of AND Martix to generate the required product terms.

B. Mark the connections required for invert /non invert matrix for setting an active high to active low output
C. Prepare a PLA program table format indicating inptuts, product terms and outputs.

D. Mark the input connections of OR matrix to generate the required output (sum) terms.




) 2
3) 3
(4) 4
1[Option ID=11917]
2[Option ID=11918]

3[Option ID=11919]
4[Option ID=11920]

Sl. No.81
QBID:188081

Arrange following interrupts in order of polling (checking interrupt conditions) after every instructions.

A. Serial Interrupt

B. External 1 Interrupt
C. Timer 1 Interrupt
D. External 0 Interrupt

Choose the correct answer from the options given below :

1.LAJD B, C
2.
3

» 0 Op
ISRSR =
o0l
velllve i

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=11921]
2[Option ID=11922]

3[Option ID=11923]
4[Option ID=11924]

Sl. No.82
QBID:188082

Arrange the following in descending orders of Energy gaps of semiconductor Materials.

A Si

B. Ge
C. GaAs
D. GaP

Choose the correct answer from the options given below :

1L.D.EAB
2.B.A.CD
3A.B.D.C
4.C,B.D.A
1 1
() 2
(3) 3
4) 4

1[Option ID=11925]
2[Option ID=11926]
3[Option ID=11927]
4[Option ID=11928]

Sl. No.83
QBID:188083




Arrange the following materials in increasing order of refractive Index

A. Diamond
B. Water

C. Alr

D. Vacuum

Choose the correct answer from the options given below :

1[Option ID=11929]
2[Option ID=11930]
3[Option ID=11931]
4[Option ID=11932]

Sl. No.84
QBID:188084

Arrange the following in ascending order of their dielectric constant :

A. Alcohol

B. Nylon

C. Water (dehydrated)
D. Water (Fresh)

Choose the correct answer from the options given below :

D.C.A,B

3.

1.
2
3

nNY Ut

B
G
A,

b.
Ubdﬁ
U:JD>'>

] )

(1) 1
2) 2
3) 3
4) 4
1[Option ID=11933]
2[Option ID=11934]

3[Option ID=11935]
4[Option ID=11936]

Sl. No.85
QBID:188085

Followings is the sequence of blocks in spectrum Analyser :

A. Detector & video Amplifier
B. Fixed Frequency Active filter
C. Attenuator (Adjustable)

D. Mixer & Tunable Detector

Choose the correct answer from the options given below :

1. B—=D—C—A
2. D—B—A—C
3. A—B—D—=C
4. C—D—B—A

1) 1

(2) 2

(3) 3

(4) 4




1[Option ID=11937]
2[Option ID=11938]
3[Option ID=11939]
4[Option ID=11940]

Sl. No.86
QBID:188086

Given below are two statements :

Statement I : Concentration of acceptor atoms in the region between isolation islands in a monolythic integrated
circuit will be much higher then in a p-type substrate.

Statement II : The higher density is provided to prevent the depletion region of the reverse biased isolation to
substrate junction from extending into the p+ type material.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
(3) 3
) 4
1[Option ID=11941]
2[Option ID=11942]

3[Option ID=11943]
4[Option ID=11944]

Sl. No.87
QBID:188087

Given below are two statements :

Statement I : In case a reverse biased photodiode is kept in a open light, the current flowing through the device
corresponds to value of reverse saturation current.

Statement II : Photovoltaic emf of semiconductor photodiode is that voltage at which the resultant current
flowing the device becomes zero.

In the light of the above statement, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
1) 1
(2) 2
3) 3
4) 4
1[Option ID=11945]
2[Option ID=11946]

3[Option ID=11947]
4[Option ID=11948]

Sl. No.88
QBID:188088




Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Some instruction read the contents of an internal port latch instead of reading the status of an
external pin.

Reason R : We must not make a distinction between reading the status of the input pin and internal latch of the
ouftput port.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A’
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
1) 1
) 2
(3) 3
4) 4
1[Option ID=11949]
2[Option ID=11950]

3[Option ID=11951]
4[Option ID=11952]

Sl. No.89
QBID:188089

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : M-ary modulation scheme is preferable where bandwidth requirement is important.

Reason R : In M-ary modulation scheme the BW (bandwidth) requirement is reduced by factors log;M in
comparison to BPSK system.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
)1
(2 2
(3) 3
(4) 4
1[Option ID=11953]
2[Option ID=11954]

3[Option ID=11955]
4[Option ID=11956]

Sl. No.90
QBID:188090

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Potentiometric type accelerometer have higher resolution than LVDT accelerometer.

Reason R : The resistance offered to the motion is less in LVDT accelerometer than in potentiometric
accelerometer.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
)1
2) 2
3 3




(4) 4

1[Option ID=11957]
2[Option ID=11958]
3[Option ID=11959]
4[Option ID=11960]

Sl. No.91
QBID:188091

A pulse radar determines target by round trip time of a pulsed microwave signal. The frequency used by radar
transmitter is 10GHz with transmitted power 2KW (Pulse power). The Antenna size of radar transmitted this
C (speed of light)

signal is based on (a (Wavelength) = =
& { f (Frequency)

with a Gain (Gt) of 28dB is used to detect the target (aeroplane)

having its cross section area as 12m?. The receiver has its capability as-90dBm as minimum detectable signal
(P,y;n)- There is an isolation between trans and receive chain as (80-100dB) determine Radar maximum range.
Based on the paragraph answer following questions :

What is the distance (R) of target if round trip time (t) is known in the radar signal C velocity of signal (EM
wave)

2
]
I

N
~
o e
~

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11961]
2[Option ID=11962]

3[Option ID=11963]
4[Option ID=11964]

Sl. No.92
QBID:188092

A pulse radar determines target by round trip time of a pulsed microwave signal. The frequency used by radar
transmitter is |0GHz with transmitted power 2KW (Pulse power). The Antenna size of radar transmitted this
C (speed of light)

signal is based on i(}‘ (Wavelength) 3
(Frequency)

with a Gain (Gt) of 28dB is used to detect the target (aeroplane)

- . - gl . - g . - .
having its cross section area as 12m-. The receiver has its capability as-90dBm as minimum detectable signal
(P,y;n)- There is an isolation between trans and receive chain as (80-100dB) determine Radar maximum range.

Based on the paragraph answer following questions :
Operating frequency of this radar falls in which band ? specify it

1. L-Band
2. C-Band
3. X-Band
4. Ku-Band
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=11965]
2[Option ID=11966]

3[Option ID=11967]
4[Option ID=11968]

Sl. No.93
QBID:188093




A pulse radar determines target by round trip time of a pulsed microwave signal. The frequency used by radar
transmitter is 10GHz with transmitted power 2KW (Pulse power). The Antenna size of radar transmitted this
C (speed of light)

: with a Gain (Gt) of 28dB is used to detect the target (aeroplane)
(Frequency)

signal is based on (}. (Wavelength)

. . " $ . . g . .
having its cross section area as 12m~. The receiver has its capability as-90dBm as minimum detectable signal
(P,;n)- There is an isolation between trans and receive chain as (80-100dB) determine Radar maximum range.

Based on the paragraph answer following questions :
If Z; is impedance of radar antenna and Z is characteristic impedance of line, then what is reflection coefficient
(r')of the antenna ?

_Z1-2
Zr—Zy
zZ
r=ZctZo
Zi—Zy
Z;—2Z,
r’.;:—E 0
ZJ1_'+ZD
Zy+ 2
4. ri’_—‘[ ]
Zp—Zy

1.T

b2

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=11969]
2[Option ID=11970]

3[Option ID=11971]
4[Option ID=11972]

Sl. No.94
QBID:188094

A pulse radar determines target by round trip time of a pulsed microwave signal. The frequency used by radar
transmitter is 10GHz with transmitted power 2KW (Pulse power). The Antenna size of radar transmitted this
C (speed of light)

signal is based on (;_ (Wavelength) - — - with a Gain (Gt) of 28dB is used to detect the target (aeroplane)
‘requency

- . - 7 . - oy . - .
having its cross section area as 12m~. The receiver has its capability as-90dBm as minimum detectable signal
(Pynin)- There is an isolation between trans and receive chain as (80-100dB) determine Radar maximum range.
Based on the paragraph answer following questions :

Express minimum detectable Signal (P,;,,) in watts (P,,;, in radar receiver)

1.10712w
2.10°10w
3108w
4.10° W

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11973]

2[Option ID=11974]

3[Option ID=11975]
4[Option ID=11976]

Sl. No.95
QBID:188095

A pulse radar determines target by round trip time of a pulsed microwave signal. The frequency used by radar
transmitter is 10GHz with transmitted power 2KW (Pulse power). The Antenna size of radar transmitted this
C (speed of light)

signal is based on (}. (Wavelength) :
(Frequency)

with a Gain (Gt) of 28dB is used to detect the target (aeroplane)

- . - i . - oy . - .
having its cross section area as 12m~. The receiver has its capability as-90dBm as minimum detectable signal
(P,;n)- There is an isolation between trans and receive chain as (80-100dB) determine Radar maximum range.

Based on the paragraph answer following questions :




What is maximum range of this radar (R,,,.») upto which target can be determined ?

1.8114m
2. 6000 m
3.7414m
4. 7500 m
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11977]
2[Option ID=11978]

3[Option ID=11979]
4[Option ID=11980]

Sl. No.96
QBID:188096

In phase control and Integral cycle control the supply voltage is ac and the armature voltage is rectified ac, where
as in chopper control the supply is dc and the average armature voltage is proportional to the duty ratio of the
chopper. The chopper system is used for dc traction & battery operated vehicle - Choppers using thyristors are
more complicated than the phase control system. This is because an auxiliary commutation arrangement is
necessary for choppers, whereas commutation is natural owing to a.c. supply in phase control or integral cycle
control. Read the paragraph carefully and answer the question based on it.

In a fully controlled three phase bridge without fly wheel operation the displacement factor and power factor is :

o .
l. cos—,sin20
2
5

ol
- COSCL,—COST
T

. cos(90—a),cosor

[

3
1
4. cos 20, —cos 30
T
(1) 1
() 2
(3) 3
(4) 4
1[Option ID=11981]
2[Option ID=11982]

3[Option ID=11983]
4[Option ID=11984]

Sl. No.97
QBID:188097

In phase control and Integral cycle control the supply voltage is ac and the armature voltage is rectified ac, where
as in chopper control the supply is dc and the average armature voltage is proportional to the duty ratio of the
chopper. The chopper system is used for dc traction & battery operated vehicle - Choppers using thyristors are
more complicated than the phase control system. This is because an auxiliary commutation arrangement is
necessary for choppers, whereas commutation is natural owing to a.c. supply in phase control or integral cycle
control. Read the paragraph carefully and answer the question based on it.

In a two quadrant single phase SCR Drive armature current becomes continuous when :

1. B-o is equal to or greater than 180
2. B-ois less than 90°
3. B-a is greater than 90° but less than 120°
4. B-a is less than 45°
1) 1
2) 2
(3) 3
(4) 4
1[Option ID=11985]
2[Option ID=11986]

3[Option ID=11987]
4[Option ID=11988]

Sl. No.98
QBID:188098




In phase control and Integral cycle control the supply voltage is ac and the armature voltage is rectified ac, where
as in chopper control the supply is dc and the average armature voltage is proportional to the duty ratio of the
chopper. The chopper system is used for dc traction & battery operated vehicle - Choppers using thyristors are
more complicated than the phase control system. This is because an auxiliary commutation arrangement is
necessary for choppers, whereas commutation is natural owing to a.c. supply in phase control or integral cycle
control. Read the paragraph carefully and answer the question based on it.

In one quadrant converters such as half controlled bridge circuit or single phase circuit with fly wheel diodes for
DC moter.

1. Average output voltage is always positive
2. Average output voltage is always negative
3. Torque is always negative
4. Regeneration is always possible

1) 1

(2 2

(3) 3

(4) 4

1[Option ID=11989]

2[Option ID=11990]

3[Option ID=11991]
4[Option ID=11992]

Sl. No.99
QBID:188099

In phase control and Integral cycle control the supply voltage is ac and the armature voltage is rectified ac, where
as in chopper control the supply is dc and the average armature voltage is proportional to the duty ratio of the
chopper. The chopper system is used for dc traction & battery operated vehicle - Choppers using thyristors are
more complicated than the phase control system. This is because an auxiliary commutation arrangement is
necessary for choppers, whereas commutation is natural owing to a.c. supply in phase control or integral cycle
control. Read the paragraph carefully and answer the question based on it.

Filter for chopper should be designed such a way in the DC Drive that the chopper operating frequency should be
at least.

1. 2 times resonant frequency
2. L times resonant frequency
2

3. 4 times resonant frequency
4. Same as resonant frequency

1)1

(2) 2

3) 3

(4) 4

1[Option ID=11993]

2[Option ID=11994]

3[Option ID=11995]
4[Option ID=11996]

Sl. No.100
QBID:188100

In phase control and Integral cycle control the supply voltage is ac and the armature voltage is rectified ac, where
as in chopper control the supply is dc and the average armature voltage is proportional to the duty ratio of the
chopper. The chopper system is used for dc traction & battery operated vehicle - Choppers using thyristors are
more complicated than the phase control system. This is because an auxiliary commutation arrangement is
necessary for choppers, whereas commutation is natural owing to a.c. supply in phase control or integral cycle
control. Read the paragraph carefully and answer the question based on it.

In a single quadrant chopper how can the direction of dc motor be reversed

1. by changing the field
2. by changing the direction of free wheeling diode
3. by changing the chopper frequency
4. by applying filter
1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=11997]
2[Option ID=11998]
3[Option ID=11999]
4[Option ID=12000]

Sl. No.101
QBID:5201001
The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F

and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire v Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R
A 14.30% T 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 3

o it & B8 TeRi A-F B ORf0 BRI 31 U/ &1 (1) W (%) faaRor 3R (i) 37 841 T8 SR 8§ 3
TS P, Q 3R R 1 3T G111 & | 57 el & 941 75 HRI P1 al T=AT 90,000 § | AMADT &
ISt P YR TR TY BT IR ST |

XGRS PRI BT I o) e ey
P Q R
A [1430% 7 7 4
B [16.20% 2 5 2
C_ [18.40% 3 3 4
D  [16.80% 4 3 2
E  [12.60% 2 2 1
F [21.70% 3 2 5

What is the number of Model-Q cars sold in all cities together?

1. 31255
2.31355
. 31455
. 31555
) 1
(2) 2
(3) 3
4) 4

Tt 2ERt & ot e Hisd Q 3T 9l 1S BRI & S g 2

. 31255
. 31355
. 31455
. 31555
1) 1
) 2
(3) 3
(4) 4

NE S

| SR

da L

1[Option ID=13201]
2[Option ID=13202]
3[Option ID=13203]
4[Option ID=13204]

Sl. No.102
QBID:5201002




The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R
A 14.30% T 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 3

3 aIftionT & ©% 61 A-F 8 O10f0 BRI &1 58-I &1 (i) W= (%) faawor 3R (ii) 57 941 75 R 8§ dF
TS P, Q 3R R &1 Si0Td a1 T4 § | 4 We J &l 5 BRI &1 Sel Sl 90,000 § | AT &
HHS P YR IR Y B IR aliord |

X (& T @RI @I faa (o) e TQ H{Sl I S
P Q R
A [1430% 7 7 n
B [1620% 2 5 B
C |1840% 3 3 n
D [16.80% 1 3 B
E  [12.60% 2 3 1
F  |21.70% 3 2 5

What is the difference between Model-P cars sold in city-D and city E ?

2184
. 2204
. 2204
. 2244
(1) 1
(2) 2
(3) 3
4) 4

eI D AR YR E Sl oisa p R & dg o1 Sili 1 8 2

b=

I ¥

1.2184
2.2204
3.2294
4, 2244
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13205]
2[Option ID=13206]
3[Option ID=13207]
4[Option ID=13208]

Sl. No.103
QBID:5201003




The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R
A 14.30% T 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 3

3 aIftionT & ©% Y61 A-F 8 Of0 BRI &1 58-I &1 (i) W= (%) faawor 3R (ii) 57 941 75 R 8 dF
ATST P, Q 3R R &1 Si0Td a1 T4 8 | 54 We § &l 5 BRI &1 Hel W&l 90,000 § | AT &
HHSI P YR UR Y P 3R el |

:
:
%

X (& T @RI @I faa (o)

14.30%
16.20%
18.40%
16.80%
12.60%
21.70%

L]
=

-

to [ w|ta] —]
to [wa ][]

Elisli=1FEE

the=ta][ =] =] 4=

[rs)

2

The number of Model-P cars sold in City D) is approximately % of the number of Model-R cars zold in
City A

1. 145
2.185
3.83
4. 235

11

) 2

(3) 3

(4) 4

g D ¥ fa®! Aisd p SR & T e A H foo! Bisd R BRI &1 T@ &1 aTHT o Ufa<id (%) § 2

1. 145
2.185
3.83
4.235
1)1
(2) 2
(3) 3
(4) 4

1[Option ID=13209]
2[Option ID=13210]
3[Option ID=13211]
4[Option ID=13212]

Sl. No.104
QBID:5201004




The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R

A 14.30% T 7 4

B 16.20% 2 5 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

F 21.70% 3 2 3

3 aIftionT & ©% Y61 A-F 8 Of0 BRI &1 58-I &1 (i) W= (%) faawor 3R (ii) 57 941 75 R 8 dF
ATST P, Q 3R R &1 Si0Td a1 T4 8 | 54 We § &l 5 BRI &1 Hel W&l 90,000 § | AT &
HHSI P YR UR Y P 3R el |

X (& T @RI @I faa (o) ?ﬁwq%ﬁﬁ 1R
A 14.30% T 7 4
B 16.20% 2 3 2
C 18.40% 3 3 4
D 16.80% 4 5 2
E 12.60% 2 2 1
I3 21.70% 3 2 %
Number of cars sold in City F 1= approximately % more than the number of cars sold in City B
1.13
2.34
3.2
4.27.5
1) 1
(2) 2
(3) 3
(4) 4
e F T o] SRI B 96 UER B H a4l T3 BRI 3 T ¥ T4 fdha uiawrd (%) st g 2
1.3
2.34
3.21
4.275
1) 1
(2) 2
3) 3
4) 4

1[Option ID=13213]
2[Option ID=13214]
3[Option ID=13215]
4[Option ID=13216]

Sl. No.105
QBID:5201005




The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R

A 14.30% T 7 4

B 16.20% 2 5 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

F 21.70% 3 2 3

3 aIftionT & ©% 61 A-F 8 O10f0 BRI &1 58-I &1 (i) W= (%) faawor 3R (ii) 57 941 75 R 8§ dF
TS P, Q 3R R &1 Si0Td a1 T4 § | 4 We J &l 5 BRI &1 Sel Sl 90,000 § | AT &
HHS P YR IR Y B IR aliord |

X (& T @RI @I faa (o) e TQ H{Sl I S
P Q R
A [1430% 7 7 n
B [1620% 2 5 B
C |1840% 3 3 n
D [16.80% 1 3 B
E  [12.60% 2 3 1
F  |21.70% 3 2 5

What iz the ratio of the number of cars sold in City C to the number of Model-Q) cars sold in City D?

19:5
27:8
237
.33:10
1) 1
@) 2
3) 3
(4) 4

IR ¢ B 91 715 BRI B e 3R R D 1 Hisd Q 3 fiot &R &1 Wen & 9 &7 siua d1 g 2

19:5
278
237
.33:10
1)1
(2) 2
3) 3
(4) 4

bt

L

e el

1[Option ID=13217]
2[Option ID=13218]
3[Option ID=13219]
4[Option ID=13220]

Sl. No.106
QBID:5201006

Which of the following techniques is recommended for approaching and disciplining a student who may be
prone to explosive behaviour?

. Move swiftly and get as close to the mishehaving student as possible.
. Ensure that there are several witnesses to the confrontation.

3. Be respectful, brief but assertive.

4. Use a loud voice to establish power.

b =

1)1
(2) 2
(3) 3
(4) 4




ﬁ?ﬁﬁ;ﬁ%ﬁ%ﬁﬂ@ﬂﬁﬁﬁéﬂﬁuaﬁaﬁw@w@mmﬁaﬂ%ﬂﬁaﬁﬁﬁmmaﬁm
DI G 2

1. T Td HHE SHdeR H- aral faeneff & gur Tug Fde g1 o |
2. T8 GHTYd o Tob T € & THY 3 e 8 |

3. GHMYAD, 989 H IR Teargded §1d o |

4. Yfad WY B & 11U FHl SH1ars BT I a1 |

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13221]
2[Option ID=13222]

3[Option ID=13223]
4[Option ID=13224]

Sl. No.107
QBID:5201007

Ishita had been practicing her multiplication tables for weeks before her yearly test. She knew all her facts
completely. This type of knowledge that Izhita now has attained does not require attention and concentration.

This process is known as which one of the following ?

1. Flashbulb memory
2. Schema
3. Automaticity
4, Procedural memory
(1) 1
(2) 2
(3) 3
(4) 4
SIRrar 3ol aiftfes oRier © Use g9l 9 UBTS] &l 34T ®R el Al | 98 IR awl &l O3 avg 9 o ot
| ST 31 S YR &1 I Ui {51 & 398 &4 S 3R biad $3- &I Aawhdhdl el eidl ¢ | 59
Yihar ! FE T 3 g SU E AET S g 2

1. BiY-ged Fid
2. THHT
3. TRl

4. yisparers wfd
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=13225]
2[Option ID=13226]
3[Option ID=13227]
4[Option ID=13228]

Sl. No.108
QBID:5201008

Match List I with List IT :

LIST I (MOOCs Four Quadrant LIST II (Component)
approach)
A |Quadrant - [ L e-content
B.  |Quadrant - IT I |Self-assessment
C. |Quadrant - ITI III.  |e-tutorial
D |Quadrant - IV IV.  |Web Resources

Choose the correct answer from the options given below :

. A-TIL B-IV, C-I, D-II
. A-IV, B-I, C-III, D-II
. A-IL, B-I, C-IV, D-II
. A-IV, B-II, C-III, D-I
)1
(2) 2
3) 3
(4) 4

R R




il 191 gl 11 ¥ [ Sifere

aﬁh 1 (H@ & 91 UTS STHTH) el 11 (UCH)
UG 1 L [g-3idds

B. [UGm I [&G-Hdidd

C. [ggIm L [3-=geihad

D. [gE1v V. |49 G

fafeiad fameal & 9 98l IR &l 9 S -
1. A-III, B-IV, C-I, D-II
2. A-TV, B-I, C-IIL, D-II

3. A-III, B-1, C-IV, D-II
4. A-IV, B-II, C-III, D-I

1)1

(2) 2

3) 3

(4) 4

1[Option ID=13229]

2[Option ID=13230]

3[Option ID=13231]
4[Option ID=13232]

Sl. No.109
QBID:5201009

Match List I with List IT

LIST I (Behavioural Models) [LIST II (Developers / Redevelopers)
A [Mastery learning I |Carl Smith/Mary Smith
B Grrnimee o Benjamin Bloom/James
Black
C.  |Social learning III.  [BE. Skinner
D Programmed sc_hedule (task v |Albert Bandura'Carl
performance reinforcement) * |ThoresenWes Becker

Choose the correct answer from the options given below:

1. A-IV, B-I, C-II, D-III
2. A, B-I, C-IV, D-III
3. AL B-IV, C-1, D-III
4. A-IV, B-1, C-III, D-II

(1) 1

(2) 2

3) 3

“ a

el 191 gl 11 1 T Sifore
T 1 (TTERTES A18eH) '{zﬁmﬁarraﬁrfgﬂﬁﬁmﬁ
A |udiorr sfee [Te Ry E Y
B. |3Euum I [FeleH sH S S
C. |G sifee I [6 Uh. R

D | RS ST @/ | [ (SR SqU/ETd URE/aE
B G R S AR B GER

FFafoRad famegl & I Ug! 3R &1 90 BT

1. A-IV, B-I, C-II, D-III
2. A1, B-I, C-IV, D-III
3. A-IL, B-IV, C-1, D-III
4. A-IV, B-1, C-II, D-II

)1

(2 2

3) 3

(4) 4

1[Option ID=13233]

2[Option ID=13234]

3[Option ID=13235]
4[Option ID=13236]

Sl. No.110
QBID:5201010




Given below are two statements :

Statement I : Sensory memory is that memory which helps an individual to recall something immediately
after having perceived it.

Statement IT : Semantic memory is that memory which helps in storing as well as retrieving a collection of
relationships between events or association of ideas.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement I is incorrect.
4. Statement I 1s incorrect but Statement I is correct.

(1) 1

(2) 2

(3) 3

(4) 4

k=

TY9 1. TG TG 9% TG & S 5 Ot B A A 3Wa & dohiel 3H G TR0 S & Jeradl
A T

Fua 11 37 & 0 o5 w@fd § S oigearsd 39ar Reant & Seg & &9 & a9y & HuT & AR g
QeI & HEIAT ARl ©

SR DU P Helled 3, A G0 77 fhedl 5 T Hadl SUGD IR T T hITaiv:

1. 7= 137 nE= a8 &

| ]

. Hae 13 neEt e €
3. %Y 199 & afea oud o &

4, U= 19760 &, AThT BT [ TE &I
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=13237]
2[Option ID=13238]

3[Option ID=13239]
4[Option ID=13240]

Sl. No.111
QBID:5201011

Given below are two statements :

Statement I : If we accept a hypothesis when it should be rejected, we say type [ error has been made.
Statement IT : If we reject a hypothesis when it should be accepted, we say type II error has been made.
In the light of the above statements, choose the most appropriate answer from the options given below ;

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4. Statement I 1s false but Statement IT 1s true.

1) 1
(2) 2
3) 3
(4) 4




FYT - T & T ¥ UTadheus o TR BYd § oW 3Edigg fher ST aifeT g9 '/ O% A 9ad
€ fop sudt arsu 1 3 o= &

FYT 11: 77 &1 v I ueeu= &7 3TAER wRa & oais 5§ TeR B smer @iy, g9 = 9w A=
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SWIh @YU P elleh H, A fGw oW fehetl & §HIH UG ATl =99 HIfAw:

1. %y 13k 124 e €

(o8]

o 13k neEt sme €

3. U 19T &, ofta waa 113/@0T §)

4. U 130T &, dfheT Y= T acy &I
(1) 1
() 2
(3) 3
(4) 4
1[Option ID=13241]
2[Option ID=13242]

3[Option ID=13243]
4[Option ID=13244]
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Which of the following softwares are used for checking plagiarism?

Turnitin
e-view
Scopus
Urkund
Quetext

mO 0wy

Choose the most appropriate answer from the options given below :

1. A Band D only
2.B. Cand E only
3.A,Dand E only
4.C.D and E only

11

@) 2

3) 3

4) 4

giiefde TRl @1 wig T4 & fau 9 5 9 {559 araedgRi &1 wai féar oar g 2

A TR
B. 50
C. WUy

D. RFS
E. Bcqe

i U U fapedl & ¥ Fad SugE SR B 997 BIo:

1[Option ID=13245]
2[Option ID=13246]
3[Option ID=13247]
4[Option ID=13248]
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Which of the following methods are used to measure reliability in research?

Chain-referral zampling
Test-retest

Split-half

Inter-rater

Judgemental test

mOnwps

Choose the correct answer from the options given below :

1.A, B and C only
2.A.Dand C only
3.B. Cand D only
4. C,D and E only

1 1

) 2

(3) 3

(4) 4

ey H 2g-igan &1 719 & fore e # 9 feoe1 fafat &1 it fopan S e 2

A ggar gaiid wia=sae
B. Wi9-G: Wi F

c. fayaarg

D. diafFuRe EeRex)
E. g 010 o=

=1 feu e fasedl o 9 9el 3Tk &1 98 ol

1.$ad A, B, C
2. Pad A, D, C
3.%ddAB, C.D
4. $90C,D,E

) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13249]

2[Option ID=13250]

3[Option ID=13251]
4[Option ID=13252]
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Given below are two statements :

Statement I : t-tests arc appropriate only when the dependent variables being measured are continuous.
Statement IT : Chi-square statistic allows us to test hypotheses using both continuous and ordinal data.
In the light of the above statements, choose the most appropriate answer from the options given below ;

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement I are false.
3. Statement I is true but Statement II s false,
4. Statement I is false but Statement I is true.

(1) 1

(2) 2

3) 3

(4) 4




TR e R E:
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IRIF FYH & TS 1, A1d [2U U [aHedi T U ol SR H1 90 P I
1. Y1 AR 11 S Ga gl
2. FYA 1 AR 1A ST ¢

3. PYT 1 I 8, A PUT 11 3T B

4. DY ITA B, AP YT I T B
1) 1
@ 2
(3) 3
(4) 4
1[Option ID=13253]
2[Option ID=13254]

3[Option ID=13255]
4[Option ID=13256]
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Given below are two statements :

Statement I : UGC-CARE list includes all the scopus, web of science, and MLA indexed journals.
Statement IT : Open Access Journals are predatory journals.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

4) 4

i & PeA fRu MY §:
FU I : Toi1-TTUaRE gt & et Woivy, 39 3t A5 SiR Iy gHies - Ma eh § |
FYT 11 : Gad AH ST ge o-a e ¢ |
SIRITd Y & e 7, 12 U v fadedl § @ |l 5o &1 <o & e
1L FFAISNRIGH A ¢ |
2. FUTI ARG AT |
3. DY 1A &, Wip HYF I A B

4. DY ITA 8, AP YT I TT B
1 1
) 2
@3) 3
(4) 4
1[Option ID=13257]
2[Option ID=13258]

3[Option ID=13259]
4[Option ID=13260]
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The people's preconceptions and frames of reference, and spreading one's own limited attitudes towards issues
and images result in:

1. Stable identity
2. Social harmony
3. Positive public opinion
4. Stercotypes
(1) 1
(2) 2
3) 3
4) 4

R 1 gaeRonSH, TgH & RRI iR gal d Biadi & uid 37 9 Uit siftgkul & TR o1
frafafed o 9 @ o ghar g 2

R ugaH
. IS 9igTe

JHRIHD A
1) 1
(2) 2
(3) 3
(4) 4

B O I

1[Option ID=13261]
2[Option ID=13262]
3[Option ID=13263]
4[Option ID=13264]
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In mass communication the audience is:

1. Identifiable
2. Relatively small
3. Heterogeneous
4. Homogeneous
) 1
(2) 2
(3) 3
(4) 4

o TR I gl Fefiaa S AR sia g 2

PR
. 3UETEHd HH G=A1 1
fawmedt
gHzUl

S e

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13265]
2[Option ID=13266]

3[Option ID=13267]
4[Option ID=13268]
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The meanings of visual images depend much on:

Individual perception

Social perception

Political links

Economic benefits
Representational Connections.

mUnwps

Choose the correct answer from the options given below:

A, Band C only
.B. Cand D only
3.C.D and E only
4. A, B and E only

b =




1) 1
(2) 2
(3) 3
(4) 4

e fia & o A T ¥ A R el Rk a=d g 2

A. dufga® 9y
B. IS 91y
C. oA 9ud (fdw)
D. 3filep gfdemy
E. mifaffie &y
=i fCU T fas el O 9 9g1 STR &1 98- SIieig:

1.$GAA, B, C

1[Option ID=13269]
2[Option ID=13270]
3[Option ID=13271]
4[Option ID=13272]
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Given below are two statements :

Statement I : The right to communicate can prompt the emergence of negative liberty though its positive
impact cannot be overlooked.

Statement IT : The hidden impact of free market place has diluted the concept of free speech to suit the
corporate ends.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement I are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement I 1s true.

(1) 1

(2) 2

3) 3

(4) 4

e @ Py fag Mg @

FHUF 1 - GO0 BT AIHR TSRS WdFdl & 380 &1 URd T IJ&dl ¢ T4 595 ISRIAD UHd &I
T TRl fPm ST IHar e |

DY 11 : Yo SR R &b USH THIG A DRURE Uedl & 3FY did Wid=g DI SR DI gD DY
e |
JURIG DY o el 0, i< (4T MU [dpedl T oI5l 3 &1 94 Hifolt:

1. BYT1 AR 11 S Gd g

CHYF RIS ST |

PYT I T €, AfpT PYTII HTA R |
PUT I ATI S, AT PUT I TS |
) 1

) 2

(3) 3

4) 4

ES PR ]

1[Option ID=13273]
2[Option ID=13274]




3[Option ID=13275]
4[Option ID=13276]
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Given below are two statements :

Statement I : The capacity of words need not have any connection with truth.

Statement IT : There is a human tendency to conceal facts and suppress the truth while communicating.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but Statement II is correct,
(1) 1
2) 2
3) 3
(4) 4

1 & Y T U §: U SHUSYT (Assertion A) & F9 T ARG ¢ ol G3R1 39 BRUI (Reason R) P
TOT:

SUHYT A« Uea] D1 4T T G $ 1Y His Y89 &1 00T el ¢ |
HRUTR : TN B THT T2} B TN 4R T Bl SqH1 AFAG Ygio g |
SR DY & 3Teliep H, i f3U Y faspeui § U a8 3uged IR &1 90 Bifol |

LAIRREA TSI € IR R, AT el AR © |

A SRR EH TSI 8, AP R, AT Gt TR ET © |
3 ATSI e AR GBI Aol & |
4 ATEI TR g APARTRI G |

1 1

2) 2

3) 3

(4) 4

[ SR

1[Option ID=13277]
2[Option ID=13278]
3[Option ID=13279]
4[Option ID=13280]
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Find out the third common term between the two given Arithmetic Progression (AP) series given as
3.7, 11,.15; and 1, 6, 11, 16,

.31
.43
3.51
4. 47
1) 1
(2) 2
(3) 3
(4) 4
fFmifera & =0 o &l <1 it gaR il (udh & He R E U &l 9id Biferg
3 T8
3R

1,6,11,16 .........

[

.31
.43
3.51
4,47
1) 1
(2) 2
(3) 3
4) 4

[

1[Option ID=13281]




2[Option ID=13282]
3[Option ID=13283]
4[Option ID=13284]
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A person can do a piece of work in 18 days. After working for 12 days, the person leaves and another person
joins and completes the remaining work in 8 days. In how many days this 2nd person can complete the whole

job?

.20
. 24
22

18

b =

e o

1) 1

@ 2

(3) 3

(4) 4

e dfad U o1d @1 18 AT A ax U@l § | 12 f&AT 9% &1l $3- & uyid a8 oafdd &1 &1 8is Sdi g
SR GIRT AT BT B HAT URY BT ¢ a1 A S &1 8 a1 H QI &= ol ¢ | I8 T3 oAfekd 38 X
aﬁmﬁﬁmﬁﬁmﬁ{ﬂmm%?

20
24
22

18

FompEe

]

1) 1
) 2
(3) 3
(4) 4
1[Option ID=13285]
2[Option ID=13286]

3[Option ID=13287]
4[Option ID=13288]
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The average salary of 25 workers in an office is Rs. 6,000 per month. If the salary of the manager is added, the
average becomes Rs. 6,200. What is the annual salary of the manager?

1. 73.200
2.1,34,400
3.1,58,600
4.1,03,200

11

(2) 2

(3) 3

(4) 4

fepelt sratery & @ik 25 w4t &1 Sird a7 6000 9 UFawTS 8 | aft S vey® @1 a7 i s
fear SiTaT € d U8 37 6200 94 ©1 ST § | 9@ &1 alfie 9d- [ba g 2

73,200
1.34,400
1,58,600
1.03.200

L

L

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=13289]
2[Option ID=13290]

3[Option ID=13291]
4[Option ID=13292]
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In what time a sum of money will double itself at the rate of 8% per annum simple interest?

1. 10.5 years
2.12.5 years
3. 9.5 years

4.11.5 years




g U IR 8% Hfdas HYRU &S D1 &R © e 909 & 1 & ogt 2

1[Option ID=13293]
2[Option ID=13294]
3[Option ID=13295]
4[Option ID=13296]
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A shopkeeper sold two articles at Rs. 12,000 each. He sold one article at a profit of 20% and the other one at a
loss of 20%. What is the net gain or loss to the shop keeper?

1. Aloss of Rs. 1000
2. A gain of Rs, 1000
3. Aloss of Rs. 3,000
4. Aloss of Rs. 1,500

(1) 1

(2) 2

(3) 3

(4) 4

Tl gMeR- gl aegsll § 9 Ud® I 12,000 YT H &1 | GH UD T DI 20% P o1H W &1 U4 G831
TE] Pl 20% 1 I W 41 | GHHEAR Bl el o1 1 81 [ g 2

1. 1000 39U B 81
2. 1000 39T HT ATH
. 3000 ¥9Y B g1H
. 1500 39U B g1H
1) 1
(2) 2
(3) 3
(4) 4

ES Y

1[Option ID=13297]
2[Option ID=13298]
3[Option ID=13299]
4[Option ID=13300]
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Which informal fallacy is committed in the following argument - "Scientists have been trying for centuries to
disprove the claims of astrology, and none of them has ever succeeded. Therefore, we must conclude that
astrology's claims are true" ?

1. Slippery slope
2. Hasty Generalization
3. Aurgumentum ad Ignorantian (appeal to ignorance)
4. False Cause
(1) 1
2) 2
(3) 3
(4) 4
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1[Option ID=13301]
2[Option ID=13302]
3[Option ID=13303]
4[Option ID=13304]

Sl. No.127
QBID:5201027

Which of the following propositions can be directly inferred from the statement - "All mammals are four-

legged animals?

1. All animals are four-legged mammals.
2. No four-legged mammals are animals.
3. Some mammals are four-legged animals.
4, All four legged animals are mammals,
(1) 1
(2) 2
(3) 3
(4) 4

?Eﬁfﬂiﬁﬁ ufcRIGrl B 3 [Gae! 38 SYH 9 Yaard: S (681 ol 9ol § - 9 T-aR] 9w ug)

1. oft Uy S AR E |
2. B +ff T TR R R
3. 79 WAYR ST 9 | |
4.mﬂa’1trmm%ﬁ:fw%|
) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13305]
2[Option ID=13306]
3[Option ID=13307]
4[Option ID=13308]
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Which of the following statements is contrapositive to the following statement - "Some dogs are not

aggressive animals"?

1. Some aggressive animals are not dogs.
2. Some dogs are aggressive animals.
3. Some non-dogs are aggressive animals.
4. Some non-aggressive animals are not non-dogs.
(1) 1
) 2
(3) 3
(4) 4

Al oy o 9 11 91 FEfaied $UF & 9iauikalid © - $© S SM™e 93 T8l o' 2
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@ 1
(2) 2
(3) 3




(4) 4

1[Option ID=13309]
2[Option ID=13310]
3[Option ID=13311]
4[Option ID=13312]
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oF

Which of the following statements are contradictory to each other?

A. All objects are perishable,

B. Some objects are not perishable.
C. Some objects are perishable.

D. No objects are perishable.

Choose the most appropriate answer from the options given below:

1. Aand D only
2.B and D only
3. Cand D only
4, A and C only

1 1

(2) 2

3) 3

(4) 4

@ d T o 3 YT RER AU § 2

A TR TGETRE |
B. $T GRJI TR LIS |

C. TS TITRE |
D. BTSN aeg TR S ¢ |

i feu T fomedl § O Ua IUdad IaR &1 994 HIfT:

1. Had A IR D
2. HadA B AR D
3. %aaCc ARD
4. FaAAARC

1y 1

) 2

3) 3

@) a

1[Option ID=13313]
2[Option ID=13314]
3[Option ID=13315]
4[Option ID=13316]
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To find my way about in a village I ask a resident for guidance. Which of the following instruments of
knowledge is used according to classical Indian school of Logic (Nyaya)

1. Perception (Pratyaksa)
2. Similarity (Upmana)
3. Inference (Anumana)
4. Verbal Testimony (sabda)
1
@) 2
3) 3
(4) 4

U 9§ 39 AP &1 I & e 14 TRk gq U dHaril 3 OF ST | 6 YR 41 0d &
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) 1
) 2




3) 3
(4) 4

1[Option ID=13317]
2[Option ID=13318]
3[Option ID=13319]
4[Option ID=13320]
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Which of the following applications A-C are built on top of open-source digital platforms?

A. Google Earth
B. DIKSHA
C. MySQL

Choose the correct answer from the options given below.

1. Aand B only
2. Aand C only
3.B and C only
4. A BandC

1) 1

(2) 2

(3) 3

4) 4

%gﬁ@m&ﬂm(mﬁ%ﬁ%-@ﬁ%ﬁmﬁWﬁ$ﬁwﬁﬁﬁ

A TFTE 31 (Google Earth)
B. I&fl (DIKSHA)
C. 1T THEIUd (MySQL)

=g feu u fdoedl § O Ugl 3R &1 90 Bl

1[Option ID=13321]
2[Option ID=13322]
3[Option ID=13323]
4[Option ID=13324]
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Which of the following statements (A-C) are correct with reference to Web 3.0?

A. Web 3.0 technology (theoretically) puts user data and web content into user's hands.
B. Centralization is a core tenet of Web 3.0
C. In Web 3.0 world, block-chain based networks, transactions and businesses will thrive in the coming

years,
Choose the correct answer from the options given below :

1. Aand B only
2. Aand Conly
3.B and C only
4. A.Band C

(1) 1

(2) 2

3) 3

(4) 4
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1. Had A 3R B
2. HAA A IR C
3. $9AB AR C
4. A,B3RC

1

() 2

(3) 3

(@) 4

1[Option ID=13325]
2[Option ID=13326]
3[Option ID=13327]
4[Option ID=13328]
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Given below are two statements :

Statement I : The inventor of WWW is Bill Gates.

Statement II : IPv6 protocol defines an IP address of 128 bits.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false,
4. Statement I 1s false but Statement IT 1s true.

11
(2) 2
(3) 3
(4) 4

EIECIER TR
FY 1 : 3o S S (WWW) & T HRS fad ea g |
PYF 11 : 3fMSUIdl6 (1Pve) TEoTd 120 fae & MeUl U9 &1 RN FRaTg |
QRIS DY & 3fTeiis 1, F1d U 710 faeedil § 3 el SR &1 997 BIe:
1. @Y 1 AR 11 &H I B
2. BUYF T AR ST A G
3. PYT 1A ©, Wb HYT 11 A B |

4. DY ITA 8, AP FUT I T B
(1) 1
@ 2
(3) 3
(4) 4
1[Option ID=13329]
2[Option ID=13330]

3[Option ID=13331]
4[Option ID=13332]
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Consider the following Excel spreadshect :

A B C D E F
1 3 5 1 2
2 2 3 5 2
3 4 5 7 2

What is the value of the formula = SUMIF(B1:B3. "=" & 3, C1:C3)

N
[=.=JE L R ¥ ]

(1) 1
) 2
(3) 3
(4) 4

fafaRad T SIseie | fdaR $if -

A B C D E F
1 3 5 1 2
2 2 3 5 2
3 4 5 7 2

A : =SUMIF(B1:B3, ">" & 3, C1:C3) @I II'I:TETTIT% ?

e
oo —1 Ln Lo

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13333]
2[Option ID=13334]

3[Option ID=13335]
4[Option ID=13336]
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Given below are two statements ;

Statement I : SWAYAM is a platform developed by Ministry of Education and AICTE to bridge the digital
divide among students.

Statement IT : UGC is a National coordinator of SWAYAM for non-technical Post Graduation education to
ensure that best quality content is produced and delivered.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT is true.

(1) 1

@) 2

3) 3

4) 4
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1
(2) 2
(3) 3
(4) 4
1[Option ID=13337]
2[Option ID=13338]

3[Option ID=13339]
4[Option ID=13340]
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Arrange the following Earth's water compartments in increasing order of the amount of the water they hold.

A. Rivers and streams
B. Fresh lakes

C. Atmosphere

D. Ice and Snow

Choose the correct answer from the following options given below :

1A C.B I
2

b ele
fosie=Re
or
nog

da Lo

1) 1
(2) 2
3) 3
(4) 4

gl & e SUEUS| Bl 31D GRIT YT Siel HE & §¢d $H H oudieyd HIU |

A, Afeaf 3R 9d-4RY
B.H@T_aﬁaﬁsﬂﬁ

C.
D;E\ﬁ?%ﬂ
= f3U U fowedl § ¥ Igl SR &1 994 Bifoig:

A.C.B,D
.C,A,B,D

1[Option ID=13341]
2[Option ID=13342]
3[Option ID=13343]
4[Option ID=13344]
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Given below are two statements :

Statement : I Municipal solid waste includes Garbage and Rubbish.

Statement IT : Garbage consists of both combustible and non combustible materials,

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement [ and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement [ is false but Statement IT is true.

1 1

(2) 2

(3) 3

(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13345]
2[Option ID=13346]

3[Option ID=13347]
4[Option ID=13348]
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Given below are two statements :

Statement : I In many cases, both organisms and human infrastructure will not be able to move or adapt
quickly enough to changing climate,

Statement IT : Infectious diseases are likely to inerease as a result of global warming.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

(4) 4




TR Iy m e

BYA 1 : 3 TGl B Sild AR T SHGEE A1 gaad! siadrg & Ui 2y Sda a1 o 4
e el g |

BUT 11 : TllEd a1 (3% ) ¥ uRumReE 1 I A 3§ o F gua e |

SR YA & 3faie 4, 14 3T 70 el ¥ 3 95l SR &1 997 ifeie:

L FFAISNRIGH A E |

2. BY SR G A |

3. U7 1 A B, AP PYTII AT |

4. PYT A E, APT P I TR |
1) 1

2 2

(3) 3

(4) 4

1[Option ID=13349]

2[Option ID=13350]

3[Option ID=13351]
4[Option ID=13352]
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Major contributor to carbon monoxide emissions in metropolitan areas of India is/are:

. Industrial Sector

. Domestic Sources
. Transport Sector

. Agriculture Sector
1) 1

(2) 2

3) 3

(4) 4

YRA & HETFRIY &3 § B1e HHI eSS I 1 UE UrTEH [GHeT § 2

R

1[Option ID=13353]
2[Option ID=13354]
3[Option ID=13355]
4[Option ID=13356]
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Given below are two statements : One is labelled as Assertion A and the other 1s labelled as Reason R.

hydrogen powered combustion engines probably are not the future of hydrogen fuelled vehicles.
Reason R : It is more efficient to convert hydrogen energy directly to electricity using fuel cells.
In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A.
3. Ais true but R is false.
4. A 1s false but R is true.

1) 1

(2) 2

3) 3

Assertion A 1 Although internal-combustion engines used in today's vehicles can be adapted to burn hydrogen,




(4) 4
= & YA T U §: U SHUHYT (Assertion A) & F9 8 [AR@d 8 ol GIR1 39d HRUI (Reason R) &
R REE

HHUT A - TR SHOIHT & el H YO MR S-a6 To] 31 e85 SIoH &g & [l @i fpar
ST ISl ©, BISSIoH a-SMETRT g8 Su- SHTd: SI5g o s4- are-l & Hias el & |

PRUR : A U BT ITIN B GU BI5GIoH SHoll i Ule f[dggd § SUiaror &1 3iiU® & ¢ |
IRIF FUF o ATAF 1, AId S0 U [@edl H U ol 3R &1 98- ST |

1. A3RREA TUE IR R, AP TG TSR |
2. AIRREA ITE, AP R, AT TEI TS TR § |
3ATURAPAR 3T R |
4. AT APTR IR |
M 1
@) 2
@) 3
(4) 4
1[Option ID=13357]
2[Option ID=13358]

3[Option ID=13359]
4[Option ID=13360]
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While planning for higher education development in India in the twenty first century, the guiding principles
should be :

. Access

. Empathy

. Equity

. Accountability
. Quality

mdnweE

Choose the correct answer from the options given below :

A.BandE only
B.C.D and E only
A.C.,DandE only
B. C. and D only

1.
2
3.
4,
11
(2) 2

3) 3
4) 4

a3 gl Ual 8 YRd § 9= fen & faerg & fFaem & gag arfeeff feiql J fFufafad s= =
A, 3Ty

E. TG

1[Option ID=13361]
2[Option ID=13362]
3[Option ID=13363]
4[Option ID=13364]
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Which of the following ancient systems is focussed on laws of matter and force and of combination and
disintegration?

1. Vaisesika

2. Nirukta

3. Chhanda

4. Grihya Sutras
(1) 1

(2) 2

(3) 3

(4) 4

fFgfafaa & ¥ o9 T urdF gsia uerd 3R a9 9ur 9aieH ve f9geH & Fomi m et g 2
1. RIS
RERTS}

L bkJ

ST
4. 76

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=13365]
2[Option ID=13366]

3[Option ID=13367]
4[Option ID=13368]
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According to NEP 2020, what percentage of learners of schools and higher education system shall have
exposure to vocational education by 2025.

. 40% of learners
. 50% of learners
35% learners
30% learners

=

da L

(1) 1
) 2
(3) 3
(4) 4

TART 2020 F SR, Wpal 3R I I8l Sl & Siitmmedisi 1 a1 aia=rd ay 2025 dP
SR FRI&T H 2Afi g 2

. JfferTHE A3 BT 40%
. TSl BT 50%
. TS A3 BT 35%
. AfrTHSHats &1 30%
1
) 2
@3) 3
@) 4

B O I

1[Option ID=13369]
2[Option ID=13370]
3[Option ID=13371]
4[Option ID=13372]
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Which of the following are the characteristics of non-conventional learning ?

A. No fixed curriculum

B. Teacher-centred learning
C. Cost-effective

D. Require regular attendance

Choose the correct answer from the options given below:

1. Aand D only
2. Aand C only
3.B and C only
4. B and D only




1) 1
(2) 2
(3) 3
(4) 4

e & 9 IR-IRURS ifers &t fa¥mard sH € 2
A 1 (YT ureT=a T8t

B. Rigid-ofad sifam

C. ANTG-UId!

D afEd SuRld &1 SHiazgs BHl

A=t fGu o Taeredl & & WL A @l gh ehiforg:

1. Had A IR D
2. FadAARC
3. %adAB AR C
4. HAAB IR D

1

) 2

3) 3

(4) 4

1[Option ID=13373]

2[Option ID=13374]

3[Option ID=13375]
4[Option ID=13376]
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The Sanskrit-Sahitya parishat whose aim and objectives are to disseminate Sanskrit learning and research in
different branches of indological studies and to store and maintain the ancient Indian cultural and glories of

India was established in the year :

1. 1906
2.1916
3. 1964
4.1961
1) 1
(2) 2
(3) 3
(4) 4

P d-HIe-aRYE [T 3539 I5d SO &1 YR IR URd [der daef sremme o fafie wmarsi
H HY YUl U YR Fipiae SR YR & T1Ra &1 990 qul SR T, 3961 70T 59 ad

RIS

. 1906
. 1916
. 1964
. 1961
(1) 1
) 2
(3) 3
(4) 4

b =

S 51

1[Option ID=13377]
2[Option ID=13378]
3[Option ID=13379]
4[Option ID=13380]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Fafefad e of ufed iR Uy &1 3| 2T |

e &l 1 TeTadr = & (AU SeR 1 PR & HUal 35 &1 PA] Aled 2 TS Arll 3 e
B Y1 o1 qUF I & AT aRi-ame, FATE (HER) SiUal HEd ol EU [G1Y SUA] R gHS]
B 3R 58 WY B & YTW [HFUE | T8 Iex & 39§ §AR SIaeR & AN 8 54 Ul &l
3T el § IR WIUfHE 39 # 371 90 56 U X% @S 51- &I adia-l qal g | SH sy Haea s f
e GRI RIe@ 1 (eeifNad) 7di ¥ Sfdd udl Sugad GFeH S & JHgH S aldd &R addl
T | gl SR URFAHS 1 TsalSeR BT &1 Jad B & Heod 3R 38 3 AT s & Y
T & OTU ORI 3 B 10 PR © | S99 [AaaATe s e Rd 3t @ ol 8 o 1@ & mieR
B gera Ui var § e SR Rrendf & woF ufqurh &9 ot ad sear g | Ui G & o
T T P Pt wafid B e Yeaied B SaHang s e RR a1 | i s
T3 10 I8 © 19 U 2 8URT U8 AF1ERA dl 334 © 16 84 &1 78] &1 91y W 59 Jay H 0= ¢ &
B BT FIe | TG e cdel d-519 Hd 4 g¢ 91U 3R 39 fadexiiaal & oo [aari &1
gﬁmw%?%@ﬁaﬁ%whaiﬁﬁuuldlﬁ?ﬁﬁﬁ:{ﬁﬂﬂﬁaﬂamﬁamﬁﬁ%?ua@
YT © |

What has been done to describe the role of online tutors?

1. Add value to their guidance

2. Provide them with a warning system

. Clarify their duties in fields other than education
. By adoption of certain metaphors

1) 1

(2) 2

(3) 3

(4) 4

SHATEA ee™l & YfHe & auiH & fad @1 faar T g 2

1. 3% ATieRH & Geaad far o |
2. 3% FTaH! WOE TeH AT
3. 27 @ sav &4 § 399 Bdodl &l WY BT
4. BIA99 FYD]| DI AT
11
(2) 2
3) 3
(4) 4

N ]

1[Option ID=13381]
2[Option ID=13382]
3[Option ID=13383]
4[Option ID=13384]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Fafefad e of ufed iR Uy &1 3| 2T |

e &l 1 TeTadr = & (AU SeR 1 PR & HUal 35 &1 PA] Aled 2 TS Arll 3 e
B Y1 o1 qUF I & AT aRi-ame, FATE (HER) SiUal HEd ol EU [G1Y SUA] R gHS]
B 3R 58 WY B & YTW [HFUE | T8 Iex & 39§ §AR SIaeR & AN 8 54 Ul &l
3T el § IR WIUfHE 39 # 371 90 56 U X% @S 51- &I adia-l qal g | SH sy Haea s f
e GRI RIe@ 1 (eeifNad) 7di ¥ Sfdd udl Sugad GFeH S & JHgH S aldd &R addl
T | gl SR URFAHS 1 TsalSeR BT &1 Jad B & Heod 3R 38 3 AT s & Y
T & OTU ORI 3 B 10 PR © | S99 [AaaATe s e Rd 3t @ ol 8 o 1@ & mieR
B gera Ui var § e SR Rrendf & woF ufqurh &9 ot ad sear g | Ui G & o
T T P Pt wafid B e Yeaied B SaHang s e RR a1 | i s
T3 10 I8 © 19 U 2 8URT U8 AF1ERA dl 334 © 16 84 &1 78] &1 91y W 59 Jay H 0= ¢ &
B BT FIe | TG e cdel d-519 Hd 4 g¢ 91U 3R 39 fadexiiaal & oo [aari &1
gﬁmw%?%@ﬁaﬁ%whaiﬁﬁuuldlﬁ?ﬁﬁﬁ:{ﬁﬂﬂﬁaﬂamﬁamﬁﬁ%?ua@
YT © |

What will inhibit student's contribution to tutorial discussions?

1. Too much contribution of the tutor
2. Disruption during tutorials
3. Internal divisions
4. Qutside intervention
(1) 1
(2) 2
(3) 3
(4) 4

fRrereta <= o ST & TN 1 a1 ST B3 2

1. T DT (D TRTEH
2. Rt o & SR soauE
3. 3RS Be
4. §TE §%I&Y
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13385]
2[Option ID=13386]

3[Option ID=13387]
4[Option ID=13388]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Fafefad e of ufed iR Uy &1 3| 2T |

e &l 1 TeTadr = & (AU SeR 1 PR & HUal 35 &1 PA] Aled 2 TS Arll 3 e
B Y1 o1 qUF I & AT aRi-ame, FATE (HER) SiUal HEd ol EU [G1Y SUA] R gHS]
B 3R 58 WY B & YTW [HFUE | T8 Iex & 39§ §AR SIaeR & AN 8 54 Ul &l
3T el § IR WIUfHE 39 # 371 90 56 U X% @S 51- &I adia-l qal g | SH sy Haea s f
e GRI RIe@ 1 (eeifNad) 7di ¥ Sfdd udl Sugad GFeH S & JHgH S aldd &R addl
T | gl SR URFAHS 1 TsalSeR BT &1 Jad B & Heod 3R 38 3 AT s & Y
T & OTU ORI 3 B 10 PR © | S99 [AaaATe s e Rd 3t @ ol 8 o 1@ & mieR
B gera Ui var § e SR Rrendf & woF ufqurh &9 ot ad sear g | Ui G & o
T T P Pt wafid B e Yeaied B SaHang s e RR a1 | i s
T3 10 I8 © 19 U 2 8URT U8 AF1ERA dl 334 © 16 84 &1 78] &1 91y W 59 Jay H 0= ¢ &
B BT FIe | TG e cdel d-519 Hd 4 g¢ 91U 3R 39 fadexiiaal & oo [aari &1
gﬁmw%?%@ﬁaﬁ%whaiﬁﬁuuldlﬁ?ﬁﬁﬁ:{ﬁﬂﬂﬁaﬂamﬁamﬁﬁ%?ua@
YT © |

The rhetoric of moderators has the intention to :

1. Displace teachers from teaching
2. Liberate students for their own learning
3. Strengthen the authority of teachers
4. Avoid eritical pedagogy
1) 1
(2) 2
(3) 3
(4) 4

URFaH®! & VegISa BT UaeH Mg H S aT g 2

1. et 1 fR1efor § fawutiog o
2. Bl P Gb U U & fo7U Hord BT
3. &Pl & WIIPR D1 Geg Pl
4. fad=rreTe fRrammea 9 g T
1) 1
) 2
@) 3
) 4

1[Option ID=13389]
2[Option ID=13390]
3[Option ID=13391]
4[Option ID=13392]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Fafefad e of ufed iR Uy &1 3| 2T |

e &l 1 TeTadr = & (AU SeR 1 PR & HUal 35 &1 PA] Aled 2 TS Arll 3 e
B Y1 o1 qUF I & AT aRi-ame, FATE (HER) SiUal HEd ol EU [G1Y SUA] R gHS]
B 3R 58 WY B & YTW [HFUE | T8 Iex & 39§ §AR SIaeR & AN 8 54 Ul &l
3T el § IR WIUfHE 39 # 371 90 56 U X% @S 51- &I adia-l qal g | SH sy Haea s f
2R GRI RIg@ 1 (eeifNad) 7ai 8 S/fdd 3udl Sugad GraH SE1 & JrgH &I alid &R Gl
T | gl SR URFAHS 1 TealSeR BT 1 Jad B & Dol 3R 38 3 T s & Y
T & OTU ORI 3 B 10 PR © | S99 [AaaATe s e Rd 3t @ ol 8 o 1@ & mieR
B gera Ui var § e SR Rrendf & woF ufqurh &9 ot ad sear g | Ui G & o
T T P Pt wafid B e Yeaied B SaHang s e RR a1 | i s
31 910 9% © 190 U 2 8URT U8 AF1ERA dl &34 © 1o 64 &1 T8l &1 9oy R 59 Jey H 0= ¢ &
B I BT A1 | TG SR odel d519 Hd 4 8¢ 91U 3R 391 fadexiiaal & oo [aari &1
gﬁmw%?%@ﬁwﬁ%mﬁqaiﬁﬁummﬁfﬁﬁﬁ:{ﬁﬂﬂﬁaﬂamﬁamﬁﬁ%?ua@
YT © |

The discourse of participatory learning may result in:

1. Abandonment of the online tutorial system
2. Vigorous student protestation

. Emergence of dos and don'ts guidelines

. Supervisory role of students

1)1

(2) 2

(3) 3

(4) 4

gfayntt st de¢f fonsf w1 Fo 4 S s oo g 9war g »

1. 3MQTEA X181 oTaRI &1 IR

2. 9 BT Ufae

3. T B 3R 1 9 3¢ gad mnfEeer o3
4. B B yddgui yfieT

1) 1
) 2
(3) 3
(4) 4
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1[Option ID=13393]
2[Option ID=13394]
3[Option ID=13395]
4[Option ID=13396]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Fafefad e of ufed iR Uy &1 3| 2T |

e &l 1 TeTadr = & (AU SeR 1 PR & HUal 35 &1 PA] Aled 2 TS Arll 3 e
B Y1 o1 qUF I & AT aRi-ame, FATE (HER) SiUal HEd ol EU [G1Y SUA] R gHS]
B 3R 58 WY B & YTW [HFUE | T8 Iex & 39§ §AR SIaeR & AN 8 54 Ul &l
3T el § IR WIUfHE 39 # 371 90 56 U X% @S 51- &I adia-l qal g | SH sy Haea s f
e GRI RIe@ 1 (eeifNad) 7di ¥ Sfdd udl Sugad GFeH S & JHgH S aldd &R addl
T | gl SR URFAHS 1 TsalSeR BT &1 Jad B & Heod 3R 38 3 AT s & Y
T & OTU ORI 3 B 10 PR © | S99 [AaaATe s e Rd 3t @ ol 8 o 1@ & mieR
B gera Ui var § e SR Rrendf & woF ufqurh &9 ot ad sear g | Ui G & o
T T P Pt wafid B e Yeaied B SaHang s e RR a1 | i s
T3 10 I8 © 19 U 2 8URT U8 AF1ERA dl 334 © 16 84 &1 78] &1 91y W 59 Jay H 0= ¢ &
B BT FIe | TG e cdel d-519 Hd 4 g¢ 91U 3R 39 fadexiiaal & oo [aari &1
gﬁmw%?%@ﬁwﬁ%mﬁqaiﬁﬁummﬁfﬁﬁﬁ:{ﬁﬂﬂﬁaﬂamﬁamﬁﬁ%?ua@
YT © |

The passage is an analysis of:

1. The traditional educational system
2. The new assessment methodology
Indian vocational education
Paradoxes of online tutoring.

NN 5]

1)1
(2) 2
(3) 3
(4) 4
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1) 1
) 2
(3) 3
(4) 4
1[Option ID=13397]
2[Option ID=13398]

3[Option ID=13399]
4[Option ID=13400]




